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BkR | _4H10R 54100 | 6A41H 7H6H 8H1H | 9H12H | 10H3A | 11H7H [ 12H5H | 1H16H | 2H8H
THH BuhE 85 584 977 1715 2222 3374 3932 4622 5362 6061 6560
1| — A {8 /mL, 0 0 0 0 0 0 0 0 0 0 0
2| KM - fatk Ptk Fatt Fatk Katk Bt ket bt Ptk batk Ptk
3| HRIV LR UZDLEY mg/L — 0.0003 A1 . == — | 0.0003 A | =] 0.0003 A | —— 10,0003 A
4 KK OZDLEY) mg/L, — 0.00005 A4 ... — ] 0.00005 A [ —— = 10.00005 K| —— =] 0:00005 A
5| L R OZDEY mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
6|8h R D2 DI E mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
7|ER K OZDLEW) mg/L — 0.001 A o - 0.00 1A o o 0.001 A o o 0.00 1A
8| Aflizn b mg/L — 0.002A7 o - 0.002:A1 o o 0.002.A o o 0.002A7i
9| i fig iR P 2 5 mg/L — 0.004A7 o - 0.004A1 o o 0.004A o o 0.004A7
10| > T AAA L R OMHES T | me/L — 0.001 A o o 0,001 AT oo s 0.001 At i o 0.001 AT
11| FHREIREE R R OV RIRIEEE R | me/I, 0.7 0.8 0.5 0.7 0.4 0.5 0.5 0.5 0.7 1.0 L1
12|79 R R OZDILE mg/L — 0.08 it o - 0.08 A7 o o 0.08 —= —= 0.08 A1
13| FEROZ DL mg/L. _— 0.02 o - 0.03 —= - 0.04 = o 0.03
14| WAL R SR mg/L — 0.0002A1] . == — =] 0.0002A | —— = 10.0002 K0 = 10,0002
15]1,4-DA4 %4> mg/L. — 0.005 4] oo o 0,009 ). .= = ).0.005 4 o i 00057451
16 yx—l‘,?z—y'auul%wli(ﬁﬁ‘/zf _ . N 5 7
1,2-y /auxfly mg/L, 0.001 A7 - - 0.001 Al - o 0.001 AT o o 0.001 Al
17| onnAsy me/L. S L0001k o= — 000K | o —— 1000k | == ] 0,001
18|77 /anxFL mg/L — 0.001 A oo et 0.00 1A oo o 0.001 A o o 0.00 1Al
19|MN7arxFL mg/L, — 0.00 1A oo o 0.001 A7 oo o 0.00 1A oo o 0.001 Kl
20|~y mg/L — 0,001k | == e | 000 R | S 000LAT | e 0001
21 MR me/L, _— 008 — = — = 0.14 —= —= 0.12 = o 0.06 A1
22|/ o me/L, _— 0.002A47i i - 0.005 —= —= 0,002 oo oo 0,002
23| 7kl A mg/L. 0.023 0,026 0,022 0.037 0.039 0.034 0.030 0,019 0,012 0.012 0,012
24| V7 o mg/L, — 0.006 o o 0.015 - o 0.003 A oo oo 0.010
2B|YTRETARAS mg/L, 0.003 0,002 0,003 0.001 0.003 0.005 0.006 0,005 0,003 0.003 0,002
26| SR mg/L — 0.001 A oo = 0.001 A oo - 0.001 A —= —= 0.001 Al
27 [KaR) A% mg/L, 0.035 0,037 0,036 0.046 0.056 0.053 0.050 0,035 0,023 0,022 0.021
28| M) g mg/L, — 0,024 o —— 0.019 —= —= 0,009 —= —= 0,009
29|7aEY TR, mg/L, 0.009 0,009 0.011 0.008 0.014 0.014 0.014 0,011 0,008 0.007 0,007
30| 7 BEA/L L mg/L 000 LA | 0.001A4H.| 000048 | 0001 A48 |.0.001 A& |0.001 A [.0.001 A |.0.001 A | 0.001 A | 0001 A |.0.001 A
3[R LT LFER mg/L, — 0.008 A7 o o 000841 o o 0.008 A i o —= 0,008
32| Hign e O Z DAY mg/L — 0.005A oo = 0.005A oo - 0.005A - - 0.005
33| T NI=0 LK OZDILEW) mg/L — 0.03 —= —— 0.05 —— —= 0.04 - - 0,027
34| BB OZDILEY mg/L [ 0030 | 0,034 |0 0370|0034 | 0034 | 0,034, |0, 034, | .0.03A0 . |..0.03 4. |..0. 0340 |0, 0340
35|81 e O DL AW mg/L — 0.01 A1 oo = 0.01 A1 oo - 0.0 LA - - 0.0 1471
36| TN LR EDILEY mg/L, — 12.3 oo o 14.3 oo oo 18.1 oo oo 15.0
37| W B OO A mg/L|..0.0054 | 0.00571%.] 0005718 | 0.005741% |.0.0057418 |.0.005 4 |.0.005 741 |.0.005A4 |, 0005747, | 0,005, | 0,005 741
38 A4 mg/L 13.5 13.2 13.1 13.8 13.3 13.1 13.0 13.4 14.2 15.0 15.6
39|y b, <) Ay WE L) mg/L, — 55 oo o 56 oo oo 67 o i 69
40| I T mg/L, — 127 oo o 122 oo oo 144 o i 128
41 R A mg/L. o~ 002K | == T QORI e Q02 L e Q02K
2|V A A mg/L — 0.000001 | = — ... |o.00000 K| —— 10000001 K| —— oo 0.000002
43| 2-AF AV RNV I —)L mg/L —— 0000001 A oo - 0.000001 A - - 0.000002 —— - 0.000001 A
44 | AT EE A mg/L — 0.005A47 - - 0.005A41 - - 0.005 A - - 0.005Ai
45(7 = ) —/If me/L, i 0.0005A4H) .. —— ——...10.00054K0] . == == 10.0005K] . —— —....1.0.00057H
46| Fs (BAIRF(TOC)DHR) | me/I, 1.0 0.8 0.7 0.8 0.8 0.8 0.8 0.7 0.6 0.8 0.9
47| pHfE = 7.9 7.9 7.9 7.8 8.0 8.1 8.1 7.8 7.9 7.8 7.8
489k - FeRial | marel | Wegrel | Wl | Sgzel | magsel | Baal | el | Bl | Bzl | Bzl
49| 5 - FeRRL | marel | Wegrel | Wl | Sgzel | magsel | Baal | el | Bzl | Bzl | Bzl
50 | () E 0544 0.57%0M.. ). O.5AMH... .. 0.5 ... 0.5, .. 0.540 . ). 0.5 | 0540, | 0.5 | 0.5 | 0.5
51| i3 0. 1A 0.1 . 0.0 | 0. 1A | O.1A&M | O1AKM [ 01AWM [ 01455 | 01450 | 0.14mM | 014
52 | FREEHI R me/L, 0.5 0.5 0.4 0.5 0.5 0.5 0.4 0.5 0.4 0.5 0.4
53 | /Kifi C 17.2 19.3 22.4 26.3 29.9 30.3 26.7 21.5 15.2 12.0 12.2




